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18 E8

EES

<IERH: FEIR-#EE>
IE 5 A R Bt #HE HELHE e
AT
wEIT  EA T EEE m3 238.0 240
BtT (i) &L LB L m3 34.1 30
FEERI AEER (ELH) LYEL m3 12.9 10
HLIANET LREER- LS m3 289.7 290
EAERL
WET ATIRE ATIRE m2 12.9 10
BIRERT
ELT KiE TR IRIR m3 126.3 130
BR TR IMREE m3 31.1 30
o 9)—k m3 6.1 6
EmEEL m2 64.5 60
W=+ aysiET
1SEET $#£Z50cm 1:0.4 or 1:05 75.3 75
25ERT £z 75cm 1:0.3 1.7 2
153097 0y)%E HZE1:0.442 2 50cm m2 2738 274
25209)-+7'Ry) E KE1:0.3#E X 75cm m2 45 5
15XimT £ 2 50cm 74.0 74
25 XinT 22 75cm 3.0 3
HREEM 0.265m3/m2 m3 72.4 70 &E®)
0.451m3/m2 m3 2.0 2 (Co)
0% H LR LR A4 m2 2738 274
RiA-FIAM (BR) RC-40 m3 145.7 150
NOlET 185/hALk & RT 1.0 1
25/hALk & Rr 1.0 1
35/h0O1k &R 1.0 1
48/h0O1k &=l 1.0 1
58/h0O1k &R 1.0 1
65/hO1E & Rr 1.0 1
75/h0O1k &R 1.0 1
R T 15 & Rr 1.0 1
2= &R 1.0 1




I &5 A B B #HE FHL¥E e
RESHT
REHTAVHT
ERITOvIEM  04%x04 HO3 & 1,123.8 1,124 (179.8m)
[EsEa>2)—bk  t=20cm m2 19.5 20
yLarvs)—r  t=10cm m2 16.8 17
EERPYIEY m3 5.06 5 0.0045m/{&
#T HEER m3 9.1 9 0.0081m/{&
I (FYDITI)
JYDIT TYDIFTIT(EEH) m2 26.6 27
BEYRET
BEYERELT
A))-MEE W EREE 29 - (ERS) m3 75 8
EfRNET
AV —REOER av9Y) - (B m3 13.1 13
AV —RER S a9 - (B t 308 31 13.1x23=30.78
RE&T
TE-RHIT
Tn5 RELTOSHE-BE-HE R 19.5 20
s T ZBRET ¢ 300 m 226 23
R#HTIT ZBRET ¢ 400 m 164.2 164
KEZT
R THEK RUOTHRE-BE G 5.0 5
R T &g YE R BFHEK | 32
BISRAFyIMNET
7705 2.1kg/% % 19.5 20
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<IERX5HER-EE> 1K
IiE &7 bl pskic] Bfy | ABFF | BEFT | CHEFT DEFF | EBIFT | FEAT | & i"%E
AT
HEHIT HEHI TR 1 m3 46 7.9 276 305 1674 | 2380
Bt+T (R #E+ V3B m3 1.1 7.1 13.3 12.6 34.1
FEERIFEER RIS L¥EL m3 12.9 12.9
BT ANET +HEER- 0 m3 290.0
EET
BEET  AIRE AIRE m2 12.9 12.9
FIRERT
LT KR TR MREE m3 13 50 39.2 13.3 675 1263
BER TR R m3 2.5 6.1 6.5 2.3 13.7 31.1
EREav o) —+ m3 6.1 6.1
HEEELE m2 47 17.2 6.0 36.6 64.5
WH)-F T
1SERT %2 %2 50cm 1:0.4 or 1:0.5 3.0 20.9 6.9 445 75.3
2BEMT %% 75cm 1:0.3 1.7 1.7
15309Y-+7'Ry)R FZE1: 0.4 % 500m m2 5.7 458 214 | 2009 2738
25209ty y%E KE1:0.342 2 750m m2 45 45
15XIHET % % 50cm 1.7 20.9 6.9 445 74.0
2B XRIHT $EZ 75cm 3.0 3.0
HEEM 0.265m3/m2 m3 15 12.1 5.7 53.1 72.4
0.451m3/m2 m3 20 20
O H L RS LE#F m2 5.7 45.8 214 | 2009 | 2738
FiA-FAM (FR) RC-40 m3 5.1 23.9 108 | 1059 = 1457
NOLET 15/hALk =L 1.0 1.0
25/h0OLk &G 1.0 1.0
38/hO1k &2 1.0 1.0
45/hO1k &G 1.0 1.0
58/hO1k &R 1.0 10
65/hOLE &G 1.0 1.0
78/O1k &2 1.0 1.0
Y1 T 154 &G 1.0 1.0
25/ =L 1.0 1.0
RESHT
REHITOVIT
ERI OV HE  04%04 HO3 & 3606 | 1144 6488 | 1,123.8
EiRa>I)—k  [t=20cm m2 115 8.0 19.5
HLary)—k  [t=10cm m2 10.2 6.6 16.8
T
¥I(FYHFI)
TURT TURI (ERHE m2 1.2 255 26.6
BEYREL
BEYEELT
29— PR 17— () m3 75 15
BB T
VYY) —ERER |2Vt () m3 20 2.5 8.6 13.1
VYY) =R a2Vt () t 47 5.9 20.2 308
e
TE-RET
T35 RETOS8E-HE-#E| & 18 36 3.9 5.9 43 195
R#wYI T ZE5E T ¢ 300 m 226 226
{RFEYT ZERET ¢ 400 m 225 545 245 62.7 | 1642
KEZT
R THEK RoTHE-HE BT 1.0 1.0 1.0 1.0 10 5.0
R F 8 EZERFEEK |
BISRFYIMET
BI85 2.1kg/ %% £ 18 3.6 39 5.9 43 195
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BEELY
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15 H FE I T= it
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E¥LTT
BHER 31.1 31.1
BRI AE (RIS 5
EHI 1945
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3-1.AEFT
- YR (2B 1)
|l A c e
(m)
WEE | Y|
—SECT 24.6 05
—-SECT 21.6 3.0 1.0 0.75 2.3

—-SECT 19.0 2.6 0.8 0.90 2.3

it 5.6 46

aly A HE
(m)

[ 0.0

aly A HE
(m)

& 0.0
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3—2.B’?|E'TFJ?
. 1EH (B 1) PRE (F£E 1) HEREL
e ER c : Fu e
BrmiE | T NI | BrEE | T A | WEE T IFE
SECT 0.0 0.6 0.0
SECT 3.0 3.0 0.0 0.30 0.9 0.8 0.40 1.2
SECT 5.5 25 0.3 0.15 0.4 0.2 0.50 1.3
Hi 5.5 1.3 25
. KR OY—k HLarvs)—k
p:lF=1 E(Enﬁ;‘ W1 W2 HE
5] Ey (L = Fiy i
SECT 0.0 22 1.9
SECT 3.0 3.0 2.2 2.20 6.6 2.0 1.95 5.9
SECT 5.5 25 1.7 1.95 49 14 1.70 4.3
Hi 5.5 115 10.2 0.0
A R e
(m)
[ 0.0 0.0 0.0
ERKRT
KR OY—k A= = 115 m2
V=11.5%0.20 = 2.3 m3
HLaryy—r A= = 102 m2
V=10.2x0.10 = 1.0 m3
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. A (E L) PRYE (L5 1) E#Earo1)—+
e ER c E ES
WEE T IfE | BrEE N FH It | HrEE N FH &
SECT 56.0 0.9 1.0 0.2
SECT 59.0 3.0 1.0 0.5 2.9 06 0.0 2.4 1.7 0.95 2.9
SECT 61.0 20 40 250 5.0 2.0 1.30 2.6 15 1.60 32
Hi 5.0 7.9 5.0 6.1
N EmEF Bt Laroy—k
e ER K 8 w2 e
RS T miE & T miE
SECT 56.0 0.8 0.1 1.0
SECT 59.0 3.0 1.0 0.0 2.7 03 020 0.6 15 1.25 38
SECT 61.0 20 1.0 1.00 2.0 02 025 05 1.3 1.40 2.8
Hi 5.0 4.7 1.1 6.6
_[1'avsY—rTJBavoE Z A% (RC-40) KR —Fb
pap=t E(Ef;‘ SL Gv W1 HE
RS T miE | BEE T ItE 5] T miE
SECT 56.0 2.1 1.0 1.3
SECT 59.0 3.0 1.7 1.90 5.7 08 0.0 2.7 1.8 1.55 4.7
SECT 61.0 20 15 1.65 33
Hi 5.0 5.7 2.7 8.0
_|2®'avy)—tTJBavoE ZiA# (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T &
SECT 56.0
SECT 59.0 3.0 1.7 0.8
SECT 60.7 1.7 3.6 2.65 45 2.0 1.40 2.4
Hi 47 45 2.4
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15EBET
L= (BHEBRELY) = 30 m
V= (BEHEFHHEELY) 1.36+-100x30 = 041 m3
25 ERT
L= (BHEBRELY) = 1.7 m
V= (BEHMEFHEELY) 232+-100x1.7 = 0.39 m3
18av9)—rJ0votE
hEM (BIER)
V= 57 X0.265 = 15 m3

XKPEOMBEIIm2Y-YDELEFREEL]-,
W% H URG LE#F (& B A #8E#it=10mm. 9.8kN/m)




A= (FovriEmiEEREL)

252V )— Iy ORE

hEEM (hEEsHa>r o1)—bk 0 ck=18N/mm2)

V= 45 X0.451

KPEOMBEImA-YDEEFERELLT,

1E5XimI
L= (EBRRKY)
V= (BEIHEFFEEKY) 025+-100x1.7
28 XinT
L= (EBRRKY)
V= (BEHEFHEELY) 1.17+-100x30
15/hO1LT
avyl)—tk V= (BEHMEHEELY)
— AR 4 A= (BEHMEHEELY)
itk A A= (BEHMEHEELY)

[EsRa>I)—b A=
V=8.0%x0.20

HLaro)—r A=
V=6.6X0.10

Bt T (BT
A= (2.1425)+2% 05

REE

V= ((2.0+1.0) +2x1.6+(0.4+1.8) -2 % 3.0) X 0.

W=2.0x235

5.7

2.0

1.7
0.04

3.0
0.35

1.0
0.97
6.65
1.09

8.0
1.6
6.6
0.7

1.2

2.0

m2

m3

m2
m3
m2

m3

m2

m3

47 t
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N fEHI (B 1) PRYE (EE 1) BRL
e ER c : Fu e
WEE T IfE | BrEE N FH It | HrEE N FH &
SECT 72.0 1.8 2.0 0.3
SECT 800 80 0.7 1.25 10.0 1.9 1.95 15.6 03 030 2.4
SECT 935 135 1.9 1.30 176 1.6 1.75 23.6 03 030 4.1
Hi 215 27.6 39.2 6.5
N EmEF Bt ERTJOvY
e ER K B HE
RS iy miE B iy miE
SECT 72.0 0.8 0.0 35
SECT 800 80 08 080 6.4 06  0.30 2.4 30 325 26.0
SECT 935 135 08 080 10.8 0.1 0.35 47 1.7 2.35 31.7
Hi 215 17.2 7.1 57.7
_[1'avsY—rTJBavoE Z A% (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T &
SECT 72.3 1.9 0.9
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SECT 932 132 2.5 230 304 1.2 1.20 15.8
Hi 20.9 458 23.9
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15XimT
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18av9)—rJavoiE
hEM (BIER)
V= 458 x0.265 = 121 m3
KPEOMBE(Em2Y=YDEZEEFRELLT-,
Wt URGLE 41 (& A #i#t=10mm. 9.8kN/m)
A= (TByIBEEELRL) = 458 m2
25/hO1ET N= 1.0 #FT
avo)—bk V= (BEHMEHESZLY) = 0.63 m3
— B A= (BEBEHEELY) = 435 m2
L FETY 4% A= (BEMEHESZLY) = 0.58 m3




35/NhOLT
avo)—k V= (BEREHESKY)
— AR A= (BEREHESXY)
EFER A= (BEREHESEXY)

ERKRT ERIOvY
A:
Ef= (BABEHEELY) 57.7+-100%x625

EfRis  RETE
V= ((2.2+41.2) +2%4.2) X0.35
W=25x2.35

1.0
0.79
5.43
0.74

57.7
360.6

2.5
5.9

m3

m2
&

m3



3AKRTI HEMESE

3-5.E& R
- ) FACEED) ERL
e ER c : Fu e
WEE T IE | EE TH IE | EE TH IIE
SECT 113.0 3.4 1.7 0.3

SECT 117.0 4.0 44 3.90 15.6 1.8 1.75 7.0 0.3 0.30 1.2

SECT 120.5 3.5 4.1 4.25 14.9 1.8 1.80 6.3 0.3 0.30 1.1

Hi 75 305 13.3 2.3
N HEEIE Bt
A R K B e
(m)
R& EH i
SECT 113.0 0.8 04

SECT 117.0 4.0 0.8 0.80 3.2 0.4 0.40 1.6

SECT 120.5 3.5 0.8 0.80 2.8 0.7 0.55 1.9

Hi 75 6.0 35
N BtimEL W4T EiRJOvy
B R E(Ef;‘ Lb L HE
RS T miE RS T miE 5] T miE
SECT 113.0 16 1.6 2.7
SECT 1170 40 1.6 1.60 6.4 1.6 1.60 6.4 24 255 10.2
SECT 1205 35 2.1 1.85 6.5 2.1 1.85 6.5 2.2 2.30 8.1
Hi 75 12.9 12.9 18.3
_[1'avsY—rTJBavoE ZiA# (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T &
SECT 113.3 3.0 15
SECT 1170 3.7 3.1 3.05 1.3 1.6 1.55 5.7
SECT 1202 3.2 3.2 3.15 10.1 1.6 1.60 5.1
Hi 6.9 21.4 10.8
3-5.EEFR
15EBET
L= (BHEBRELY) = 6.9 m
V= (BEHMEFHEELY) 232+-100%6.9 = 1.60 m3
15XimT
L= (BHEBRELY) = 6.9 m
V= (BEHMEFHEELY) 1.17+-100%6.9 = 0.81 m3
18av9)—rJavoiE
hEM (BIER)

V= 214 X0.265 = 5.7 m3




KPEOMBEImA-YDEEFERELLT,
Wt LA LE# (& A Fnt=10mm, 9.8kN/m)

A= (FovriEmiELREL) = 21.4
485/OLT N= 1.0
avoy)—k V= (BEHBEEHEELY) = 0.97
— AR A= (BEBEEHEEXY) = 6.60
[y = A= (BEBEEHEEXY) = 0.90
58/ 01T N= 1.0
avo)—k V= (BEHEHEELY) = 1.04
— AR B A= (BEHEFHEELY) = 7.08
[y = A= (BEBEHEEXY) = 0.97
HT

BT I (E18)

A= (4.7+4.7)=2 X 0.5+4.7 X (2.6-0.5)+ = 255

(4.9+4.9)+2 % 0.5+4.9 X (2.7-0.5)

BRI EROAYY
A:
Ef= (BAHEEHEELXY) 183+100%x625

18.3
1144



3-6.F & T
] EIIETES EYACTED) ERL
e ER c : Fu E
gEE TH A |mEE M ue | HER T IR
SECT 178.0 1.6 0.8 0.3
SECT 187.7 9.7 1.9 1.75 17.0 14 1.10 10.7 0.3 0.30 29
SECT 200.8 13.1 52 3.55 46.5 1.5 1.45 19.0 0.3 0.30 3.9

SECT 211.7] 10.9 45 4.85 52.9 1.7 1.60 17.4 0.3 0.30 3.3

SECT 223.7) 120 40 4.25 51.0 1.7 1.70 204 0.3 0.30 3.6

Hi 457 167.4 67.5 13.7
N EmEF 2 KR OvY
e ER K B HE
RS iy miE B 1y miE

SECT 178.0 0.8 0.1 36
SECT 187.7 9.7 08 080 7.8 08 045 4.4 2.1 2.85 27.6
SECT 200.8 13.1 08  0.80 105 0.1 0.45 5.9 2.0 2.05 26.9
SECT 211.7 109 08 080 8.7 0.1 0.10 1.1 2.2 2.10 22.9

SECT 223.7) 120 0.8 0.80 9.6 0.1 0.10 1.2 2.2 2.20 26.4

Hi 45.7 36.6 12.6 103.8
_[1'avsY—rTJBavoE Z A% (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T IItE
SECT 178.3 38 1.9

SECT 187.7 9.4 42 4.00 37.6 2.2 2.05 19.3

SECT 193.3 5.6 4.6 4.40 24.6 24 2.30 12.9

SECT 193.6 4.6 24 2.40 0.0

SECT 200.8 12 49 4.75 34.2 2.6 2.50 18.0

SECT 208.6 78 48 4.85 37.8 2.6 2.60 20.3

SECT 208.9 4.8 2.6 2.60 0.0

SECT 211.7 28 48 4.80 13.4 2.6 2.60 7.3

SECT 2234| 11.7 42 4.50 52.7 2.2 2.40 28.1

Hi 445 200.9 105.9
3-6.FEFT

15EBET
L= (BHFBREELY) = 445 m
V= (BEMEHESZKY) 136-100%x445 = 6.05 m3

15XimT
L= (BHFBREELY) = 445 m
V= (BEMEFHESZKY) 025-100%x445 = 1.11 m3

18539 —hJ0v I
i (BIZER)




V= 2009 Xx0.265

KPEOMBEIm2A-YDEEFERELLT,

0% H URG LE#F (& B A #8#it=10mm. 9.8kN/m)
A= (FovriEmiEEREL)

65/hNO1ET

arol)—k
—hR B
[y =

75/h0O1T

arol)—k
—hR B
[y =

15T

arol)—k
—hR B
[y =

25MHYIT

arol)—k
—hR B
[y =

KR OvY

BEMIRLT
vy —rBRYERL
V= 0.8X5+(40x2.5+2.4% 25+7.4% 2.5) X0.1

B AL

ﬁj\

REE

A=

B#%=- (BuHEFEELY)

7.50 %X 2.35

(BB EHEELY)
(B EFEELY)
(BB EHEELY)

(BB EHEELY)
(B EFEELY)
(BB EHEELY)

(BB EHEELY)
(BB EHEELY)
(BB EHEELY)

(B EFEELY)
(BB EHEELY)
(B EFEELY)

V= ((2.1+0.7) +2 % 2.2) X 0.35

W=1.1x235

103.8+10.0x62.5

53.1

200.3

1.0
0.71
4.89
0.66

1.0
0.85
5.83
0.79

1.0
0.94
6.42
0.87

1.0
1.02
6.95
0.95

103.8

648.8

1.5

17.6

1.1
2.6

m3

m2
&

m3

m3
t



EREERT

1E2E M T CDFGHERR BENHEHEE 10.0 m¥HyY
ke
€. avyy—+t
' L 100 o ck=18N/mm2
\\ SQQ v e
\ \
\
. )
\
\ o
\ 3
8
I K=
100 550 100
EBEH RC-40 750
ME/ HER B BHEAHE 2AH=
avo)—k {1/2 x (0.100+0.550) % (0.350-0.100)+0.550 x 0.100}
0 ck=18N/mm?2 x10.0 m3 1.363
B
(0.350+0.100) x 10.0 m2 4.500

M

RC-40. t=10cm 0.750x 10.0 m2 7.500




EEERT

2EEMT CHERRF BHNHEHEE 10.0 m¥HyY
\ -
\7
\@
18N,/mm2
N
S |q
o
S
100 780 100 o
980 RC-40
M/ R HER BEf HEHE
av91)—k {1/2 % (0.100+0.780) x (0.450-0.100)+0.780 % 0.100}
0 ck=18N/mm2 x 10.0 m3 2.320
B
(0.450+0.100) x 10.0 m2 5.500
M

RC-40. t=10cm 0.780x10.0 m2 7.800




EEERFET
18 XixT CDFGHEFRR HEUMBETEE 10.0 m¥HyY

MHL/ERE FER B BHuH=E

Kigar2')—k
0ck=18N/mm2  0.500x0.100+2% 10.0

i
o
)
3

Ntk
0.100 X 10.0 m2 1.000




EEEFT

28 Xin T CHEPRr BHNHEHEE 10.0 m¥yY)
1032 ‘
avol)—k ‘
18N,/mm2

91¢
/\\\\;;

FEE /R o Es Bl BUME
Rigaro')—k
0 ck=18N/mm2 1.174x0.100 X 10.0 m3 1.174
CRET

0.100x 10.0 m2 1.000




[KsR7 0y BCHERT HEUHEHEE 100 m2¥yY)
400 300
o o 1] o
S ~ S
< — IR <
170

300
]
;

MHL/ERE FER B BHuH=E

EsRI Ay 10.0= (0.400 x 0.400)
400 X 400 x 300 & 62.500




15/h0O1LT B ETFESE 10 BEFTHY
CHEFhr
300 783

— <
1 o
g S
N
-
(=] (=]
8 8
21K 1.0 EFR
ME/EE HER B BHEAHE 2A%=
avy)—k {0.783 x 0.120=2+(1.096+1.301) X 2.050 =2+
0 ck=18N/mm2 (1.401+1.291)=2 X 0.550} X 0.300 m3 0.973 0.97
il {0.783 x 0.120 = 2+(1.096+1.301) X 2.050 ~ 2+
— AR B (1.401+1.291) =2 x 0.550} X 2+
0.550 X 0.300 m2 6.653 6.65
il 3.634 % 0.300
[y e m2 1.090 1.09




25/hOkT HNHMETEE 1.0 FHRTHY
DEFT
300

S
§ —
N
O%H -
2
996
21K 1.0 EFR
ME/EE HER B HBEEHE 2AHE
avy)—k {0.539 x 0.093 = 2+(0.862+1.031) X 1.693 =2+
0 ck=18N/mm2 (1.131+0.996) =2 X 0.450} x 0.300 m3 0.632 0.63
il {0.539 x 0.093 = 2+(0.862+1.031) X 1.693 -2+
— AR B (1.131+0.996) =2 X 0.450} X 2+
0.450 X 0.300 m2 4.347 435
il 1.924 % 0.300
[y e m2 0.577 0.58




385/hOtT HNHMETEE 1.0 FHRTHY
DEFT
300

93

1< ©
> N ®
S ~
CjF | (=]
2 2
21K 1.0 EFR
MEL/IRE HER By HAAHE 2=
avy)—k {0.539 x 0.093 = 2+(0.862+1.080) X 2.186 — 2+
0 ck=18N/mm2 (1.180+1.045) =2 X 0.450} x 0.300 m3 0.794 0.79
il {0.539 x 0.093 = 2+(0.862+1.080) X 2.186 — 2+
— AR B (1.180+1.045) =2 x 0.450} X 2+
0.450 X 0.300 m2 5.432 5.43
il 2.455 x 0.300
[y e m2 0.737 0.74




45/hO1LET HNHMETEE 1.0 FHRTHY
E&ERT
300

3 o
3 S S
S
o of
2 2
21K 1.0 EFR
MEL/IRE HEK B HBEEHE 2AHE
avg)—k {0.539 X 0.093=2+(0.862+1.131) X 2.692 =2+
0 ck=18N/mm2 (1.231+1.096) =2 X 0.450} % 0.300 m3 0.969 0.97
il {0.539 X 0.093 = 2+(0.862+1.131) X 2.692 2+
— AR B (1.231+1.096) =2 X 0.450} X 2+
0.450 X 0.300 m2 6.597 6.60
il 2.999 x 0.300
[y e m2 0.900 0.90




58/ O1ET HNHMETEE 1.0 FHRTHY
E&EF
300,

= 5
g < 8
o™
O%F = =t
2 2
2K 1.0 &Ffr
ME/EE HER B HBEEHE 2AHE
avy)—k {0.539 x 0.093 = 2+(0.862+1.151) X 2.897 — 2+
0 ck=18N/mm2 (1.251+1.116) =2 X 0.450} x 0.300 m3 1.042 1.04
il {0.539 X 0.093 = 2+(0.862+1.151) X 2.897 2+
— iR AR (1.251+1.116) =2 x 0.450} X 2+
0.450 X 0.300 m2 7.082 7.08
il 3.220 % 0.300
[y e m2 0.966 0.97




65/ OLET HNHMETEE 1.0 FHRTHY
FEFr
300
1 R
3 2
gl = 2
N
o%% 1
2 2
21K 1.0 EFR
ME/EE HER Bf BEfu$HE 2Ah#H=
avy)—k {0.539 x 0.093 = 2+(0.862+1.056) X 1.943 -2+
0 ck=18N/mm2 (1.156+1.021) =2 X 0.450} x 0.300 m3 0.713 0.71
iy oA {0.539 x 0.093 = 2+(0.862+1.056) X 1.943 =2+
— AR B (1.156+1.021) =2 x 0.450} X 2+
0.450 x 0.300 m2 4.891 4.89
B 2.193 % 0.300
[y e m2 0.658 0.66




785/hO1ET HNHMETEE 1.0 FHRTHY
FERT. GERT

300,
3 o
g I S
&
o%% .
2 2
21K 1.0 EFR
ME/EE HER B BHEAHE 2A%=
avy)—k {0.539 x 0.093 = 2+(0.862+1.098) X 2.360 =2+
0 ck=18N/mm2 (1.198+1.063) =2 X 0.450} x 0.300 m3 0.854 0.85
il {0.539 x 0.093 = 2+(0.862+1.098) X 2.360 — 2+
— AR B (1.198+1.063) =2 X 0.450} X 2+
0.450 X 0.300 m2 5.828 5.83
il 2.642 % 0.300
[y e m2 0.793 0.79




15MYT HNHETEE 1.0 FHRTHY
FEFr
300,
S L0
5N S
&
O%Hm o
2 2

21K 1.0 EFR
ME/EE HER Bf BEfu$HE 2Ah#H=
avy)—k {0.539 x 0.093 = 2+(0.862+1.123) X 2.615 =2+
0 ck=18N/mm2 (1.223+1.088) =2 X 0.450} % 0.300 m3 0.942 0.94
il {0.539 X 0.093+-2+(0.862+1.123) X 2.615 2+
— AR B (1.223+1.088) =2 X 0.450} X 2+
0.450 x 0.300 m2 6.416 6.42
B 2.916 % 0.300
[y e m2 0.875 0.87




25 /YIT HUNSHtES 10 EFrHY
FEFr
300,
< —
< 8 3
(o) N
2
IS el ik
2 2

21K 1.0 EFR
ME/EE HER Bf BEfu$HE 2Ah#H=
avy)—k {0.539 x 0.093 = 2+(0.862+1.146) X 2.841 =2+
0 ck=18N/mm2 (1.246+1.111)=2 X 0.450} X 0.300 m3 1.022 1.02
il {0.539 X 0.093 = 2+(0.862+1.146) X 2.841 =2+
— iR AR (1.246+1.111)=2 x 0.450} X 2+
0.450 X 0.300 m2 6.951 6.95
B 3.160 % 0.300
[y e m2 0.948 0.95




SREMAEE  KELO > HEEFEE (THIE 3 mAl) Ver. 30.05. 01

R RSEEIKEE 0.1
AT 1.2
TR 0.1
TR R G 1.2
THIEE 5.6

AL SRR
A LA PR I
SR AR TR
SKEL RS PR

B B B B B

SR ERIE3.0mK S

‘ ﬂnml
|

—

g

A
—

T

N
-

<

Ll‘

J L,
o] [uas

|«
«
wo

< ;l
woeg

|4

;I

C

e
o

0¢

"

KEEEDOITS

AT EFE

0.3mLl Lk

KR

@ {FiHEI T
« TTERIES. Om AR DIBES
RE 0 N = (LSRRG X (RFKER+0. 3) + TRt R NE X (FiiAkE+0.3)) + (1. 08X 1. 10)
=(1.0X(0.140.3)+1.0Xx (0. 140. 3)) = (1. 08 X 1. 10) ST PRI 2 DU 5 AN LR
= 0.67

= 0.7 @

@ ILEbih
- FIKIES. OmAER DS
R N ={HRIE X3+ (1. 08X 1. 10) X (FiiAk¥E+0.3)
1.0X3=+(1.08%x1.10) X (TFif/kizE+0.3) ST I BRI 2 DO LA LR
1.01

= 1L1M@

@ T
« JTERNES. OmRFHDIFE D
EE : L =242+ THIEE+2+1+2+1+2+1+242
=2+2+5.6+2+1+2+1+2+1+2+2
= 22.6
= 22.6 m




SREMAEE  KELO > HEEFEE (THIE 3 mAl) Ver. 30.05. 01

R RSEEIKEE 0.4
AT 2.2
TR 0.4
TR R G 0.9
THIEE 5.5

AL SRR
A LA PR I
SR AR TR
SKEL RS PR

B B B B B

SR ERIE3.0mK S

‘ ﬂnml
|

—

g

A
—

T

N
-

<

Ll‘

J L,
o] [uas

|«
«
wo

< ;l
woeg

|4

;I

C

e
o

0¢

"

KEEEDOITS

AT EFE

0.3mLl Lk

KR

@ {FiHEI T
« TTERIES. Om AR DIBES
RE 0 N = (LSRRG X (RFKER+0. 3) + TRt R NE X (FiiAkE+0.3)) + (1. 08X 1. 10)
=(2.0X(0.440.3)+1.0x (0.440.3)) + (1.08X1. 10) ST PRI 2 DU 5 AN LR
= 1.77

= 1.8 f@

@ ILEbih
- FIKIES. OmAER DS
R N ={HRIE X3+ (1. 08X 1. 10) X (FiiAk¥E+0.3)
1.0X3=+(1.08%x1.10) X (TFif/kizE+0.3) ST I BRI 2 DO LA LR
1.77

= 1.8 f@

@ T
« JTERNES. OmRFHDIFE D
EE : L =242+ THIEE+2+1+2+1+2+1+242
=2+2+5.5+2+1+2+1+2+1+2+2
= 22.5
= 22.5m




§ KE'IFFR

Bt/ R B SNSES
R R M
IR 2ESY
TR R ME

TR -

@ i T

KELO 5 EHEHEE (FIKE 3 mAETH) Ver. H30. 08. 01

VN

7

—
N |Nojo| o

B B B B B

)l

ol

AL SRR
A LA PR I
SR AR TR
SKEL RS PR

SR ERIE3.0mK S

sn
—

A
—

|4

N

;I |4 ;I

C

<

IWE

C

=

|«
«
wo

woeg

e
o

0¢

=L
v

1

;i

I (wo

”

KEEEDOITS

ARELE

AT EFE

0.3mLl Lk

KR

- MERIES. omAKFDOH A
R N = (EWRARIE X (AR +0. 3) + TR X (FHtAZE+0.3)) + (1. 08X 1. 10)

@ Lt

(1.0X (0.240.3) +2.0x (0. 240. 3)) + (1. 08 X 1. 10)

1. 26

= 1.3 @

. JTEENES. OmRiED B S
R 0 N =JEIE X3+ (1. 08X 1. 10) X (T Hi/KiZE+0. 3)
X (FifiAKZE+0. 3)

@ ZRHET

2.0X3-+(1.08X1.10)
2.53

= 2.6 ff

- {ERIE3. 0OmRIEDIH G D FH

ER : L =242+ THEEE+2+1+2+1+2+14+2+2

2+2+37.5+2+1+2+1+2+1+2+2

54.5
= 54.5m

ST PRI 2 DU 5 N LR

VRN R IE 4 DU & LA LERA



SREMAEE  KELO > HEEFEE (THIE 3 mAl) Ver. 30.05. 01

R RSEEIKEE 0.2
AT 1.9
TR 0.2
TR R G 2.5
THIEE 7.5

AL SRR
A LA PR I
SR AR TR
SKEL RS PR

B B B B B

SR ERIE3.0mK S

‘ ﬂnml
|

—

g

A
—

T

N
-

<

Ll‘

J L,
o] [uas

|«
«
wo

< ;l
woeg

|4

;I

C

e
o

0¢

"

KEEEDOITS

AT EFE

0.3mLl Lk

KR

@ {FiHEI T
« TTERIES. Om AR DIBES
RE 0 N = (LSRRG X (RFKER+0. 3) + TRt R NE X (FiiAkE+0.3)) + (1. 08X 1. 10)
=(2.0X(0.240.3)+3.0X (0.240.3)) + (1. 08 X 1. 10) ST PRI 2 DU 5 AN LR
= 2.1

= 2.1 @

@ ILEbih
- FIKIES. OmAER DS
R N ={HRIE X3+ (1. 08X 1. 10) X (FiiAk¥E+0.3)
3.0X3+(1.08X1.10) X (FitAEE+0.3) ST I BRI 2 DO LA LR
3.79

= 3.8 f@

@ T
« JTERNES. OmRFHDIFE D
EE : L =242+ THIEE+2+1+2+1+2+1+242
=24+2+7.5+2+1+2+1+2+1+2+2
= 24.5
= 24.5m




SREMAEE  KELO > HEEFEE (THIE 3 mAl) Ver. 30.05. 01

R RSEEIKEE
AT
TR
TR
THIEE 45,

AL SRR
A LA PR I
SR AR TR
SKEL RS PR

|||
< w| o o]
B 8 8 B B

SR ERIE3.0mK S

‘ ﬂnml
|

—

g

A
—

T

N
-

<

Ll‘

J L,
o] [uas
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«
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woeg

|4

;I

C
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0¢

"

KEEEDOITS

AT EFE

0.3mLl Lk

KR

@ {FiHEI T
« TTERIES. Om AR DIBES
RE 0 N = (LSRRG X (RFKER+0. 3) + TRt R NE X (FiiAkE+0.3)) + (1. 08X 1. 10)
=(2.0X(0.240.3) +2.0X (0.240. 3)) + (1. 08 X 1. 10) ST PRI 2 DU 5 AN LR
= 1.68

= 1.7 @

@ bt
- JATRIES. Om AR DE S
R N ={HRIE X3+ (1. 08X 1. 10) X (FiiAk¥E+0.3)
2.0X3+(1.08X1.10) X (FfiAkEE+0.3) ST I BRI 2 DO LA LR
2.53

= 2.6 @

@ T
« JTERNES. OmRFHDIFE D
EE : L =242+ THIEE+2+1+2+1+2+1+242
2+2+45. 7T+2+1+2+1+2+1+2+2
= 62.7
= 62.7T m




AKBANEBETES

4-1 AR
- YR (2B 1)
|l A c e
(m)
WEE | Y|
—SECT 24.6 05
—-SECT 21.6 3.0 1.0 0.75 2.3

—-SECT 19.0 2.6 0.8 0.90 2.3

it 5.6 46
A5 %ﬁ HE
[ 0.0

Al R E
(m)

& 0.0




AKBANEBETES

4-2 BEFT
N fEHI (B 1) PRYE (EE 1) BRL
e ER c : Fu e
WEE T IfE | BrEE N FH It | HrEE N FH IIE
SECT 0.0 0.6 0.0
SECT 3.0 3.0 00 030 0.9 08 040 1.2
SECT 5.5 2.5 03  0.15 0.4 02 050 1.3
Hi 55 1.3 2.5
. EkavY)—k gLaro—k
B R E(Enﬁ;‘ W1 w2 =
B 1y miE & 1y miE
SECT 0.0 2.2 1.9
SECT 3.0 3.0 2.2 2.20 6.6 2.0 1.95 5.9
SECT 5.5 2.5 1.7 1.95 4.9 1.4 1.70 43
Hi 55 115 10.2 0.0
wa B e
m)
& 0.0 0.0 0.0
BRI
KR o) —k A= = 115 m2
V= 11.5%0.20 = 2.3 m3
HLavo)—k A= = 10.2 m2
V=10.2X0.10 = 1.0 m3




AKBANEBETES

A-3.CHERT
. A (E L) PRE (L5 1) a2 o1)—+
e ER c E ES
WEE T IfE | BrEE N FH It | HrEE N FH &
SECT 56.0 0.3 1.0 0.2
SECT 59.0 3.0 0.1 0.20 0.6 06 0.0 2.4 1.7 0.95 2.9
SECT 61.0 20 03 020 0.4 2.0 1.30 2.6 15 1.60 32
Hi 5.0 1.0 5.0 6.1
EmEF yLaroy—k
s EA K w2 HE
(m)
RS T miE & T miE
SECT 56.0 0.8 1.0
SECT 59.0 3.0 1.0 0.0 2.7 15 1.25 38
SECT 61.0 20 1.0 1.00 2.0 1.3 1.40 2.8
Hi 5.0 4.7 6.6
_[1'avsY—rTJBavoE ZiA# (RC-40) KR —F
pap=t E(Ef;‘ SL Gv W1 HE
RS T miE | BEE T ItE 5] T miE
SECT 56.0 0.8 0.6 1.3
SECT 59.0 3.0 05 065 2.0 04 050 15 1.8 1.55 4.7
SECT 61.0 20 15 1.65 33
Hi 5.0 2.0 15 8.0
_|2®'avy)—tTJBavoE ZiA# (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T &
SECT 56.0
SECT 59.0 3.0 0.5 0.4
SECT 60.7 1.7 09 070 1.2 09 065 1.1
Hi 47 1.2 1.1
3-3.CEFR
15EBET
L= (BHEBRELY) = 30 m
V= (BEHEFHHEELY) 1.36+-100x30 = 041 m3
25 ERT
L= (BHEBRELY) = 1.7 m
V= (BEHMEFHEELY) 232+-100x1.7 = 0.39 m3
18av9)—rJ0votE
hEM (BIER)
V= 20 X0.265 = 05 m3

XKPEOMBEIIm2Y-YDELEFREEL]-,

W% H URG LE#F (& B A #8E#it=10mm. 9.8kN/m)




A= (FayrEEELRELC) = 20 m2
28av9)—kJnvyiE
FEEM (FhEESHT Y1) —b 0 ck=18N/mm2)
V= 1.2 X0.451 = 05 m3
XKPEOMBE Im2L-YDZEFRASLL-,

15/hALT N= 1.0 AT
avo)—k V= (BIHEHEELY) = 097 m3

— AR A= (BEHMEHEELY) = 6.65 m2

EFER A= (BEIHEFHEELY) = 1.09 m3

BRI

&R —b A= = 8.0 m2

V= 8.0 X 0.20 = 1.6 m3

#HLaro—r A= = 6.6 m2

V=16.6x0.10 = 0.7 m3



AKBANEBETES

4-4 DEFR
N fEHI (B 1) PRYE (EE 1) BRL
e ER c E Fu =
WEE T IfE | BrEE N FH It | HrEE N FH IIE
SECT 72.0 0.8 2.0 0.3
SECT 800 80 0.6 0.70 5.6 1.9 1.95 15.6 03 030 2.4
SECT 935 135 04 050 6.8 1.6 1.75 23.6 03 030 4.1
& 215 12.4 39.2 6.5
. EmEEIE ‘iR OvY
e ER K e
RS iy miE B 1y miE
SECT 72.0 0.8 35
SECT 800 80 08 080 6.4 3.0 3.25 26.0
SECT 935 135 08 080 10.8 1.7 2.35 31.7
& 215 17.2 57.7
| 18avoY—rJ oy Z A% (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T ItE
SECT 72.3 0.7 0.5
SECT 800 7.7 08 075 5.8 08 065 5.0
SECT 932 132 0.7 0.75 9.9 06 070 9.2
Hi 20.9 15.7 14.2
15EBET
L= (BHFBREELY) = 209 m
V= (BEMEHESLY) 136+100%209 = 2.84 m3
18av9)—rJavotE
hEM (BIER)
V= 157 x0.265 = 42 m3
KPEOMBE(Em2Y=YDZEEFERELLT-,
Wt URGLE 41 (& A #i#t=10mm. 9.8kN/m)
A= (TBy BEEELRL) = 15.7 m2
25/hO1ET N= 1.0 #&FT
avo)—bk V= (BEHEHEELY) = 0.63 m3
— B A= (BEBEHEELY) = 435 m2
EFER# A= (BEBEHEELY) = 0.58 m3
35/nA1ET N= 1.0 AT
avo)—bk V= (BEHEHEELY) = 0.79 m3
— B A= (BEBEHEELY) = 5.43 m2
EFER# A= (BEBEHEELY) = 0.74 m3
BRI EsRJOvy
A= = 57.7 m2
Ef=- (BEHEHFEELY) 57.7+-100%625 = 3606 {&




AKBANEBETES

4-5 EE T
N fEHI (B 1) PRYE (EE 1) BRL
e ER c : Fu e
WEE T IfE | BrEE N FH It | HrEE N FH &
SECT 113.0 34 1.7 0.3
SECT 1170 40 44 390 15.6 1.8 1.75 7.0 03 030 1.2
SECT 1205 35 41 4.25 14.9 1.8 1.80 6.3 03 030 1.1
Hi 75 30.5 13.3 2.3
N EmEF
e ER K HE
RS T miE
SECT 113.0 0.8
SECT 1170 40 08 080 3.2
SECT 1205 35 08  0.80 2.8
Hi 75 6.0
_[1'avsY—rTJBavoE Z A% (RC-40) ERIOvY
B R E(Ef;‘ SL Gv =
RS T miE | BEE T ItE 5] T miE
SECT 113.3 0.7 0.6 2.7
SECT 1170 3.7 1.1 0.90 33 08 070 2.6 24 255 9.4
SECT 1202 3.2 1.1 1.10 35 08 080 2.6 22 230 74
Hi 6.9 6.8 5.2 16.8
3-5.EEFR
15EBET
L= (BHFBEELY) = 6.9 m
V= (BEHMEFHEELY) 232+-100%6.9 = 1.60 m3
18av9)—rJavoiE
hEM (BIER)
V= 6.8 %0265 = 1.8 m3
KPEOMBE(Em2Y=YDEZEEFERELLT-,
Wt URGLE 41 (& A #i#t=10mm. 9.8kN/m)
A= (TBy BEEELRL) = 6.8 m2
45/hO1LET N= 1.0 #FT
avo)—bk V= (BEHMEHESZLY) = 097 m3
— B A= (BEBEHEELY) = 6.60 m2
L FE Y 4% A= (BEBEHEELY) = 090 m3
58/A1ET N= 1.0 &Fr
avo)—bk V= (BEHEHEELY) = 1.04 m3




— R A= (BEBEEHEEXY) = 7.08 m2
[y = A= (BEBEEHEEXY) = 0.97 m3
BRI ERIAYY
A= = 16.8 m2
E%= (BMAH#HETEEXY) 168+-100x625 = 105.0 &



AKBANEBETES

4-6.FE P
N fEHI (B 1) PRYE (EE 1) BRL
e ER c : Fu e
WEE T IfE | BrEE N FH It | HrEE N FH &
SECT 178.0 16 0.8 0.3
SECT 187.7 9.7 1.9 1.75 17.0 08 080 7.8 03 030 2.9
SECT 200.8 13.1 52 355 465 15 1.15 15.1 03 030 3.9
SECT 211.7 109 45 485 529 1.7 1.60 17.4 03 030 33
SECT 223.7 120 40 425 510 1.7 170 204 03 030 3.6
Hi 457 167.4 60.7 13.7
N EmEF KR OvY
e ER K HE
RS iy  EE = iy | @A
SECT 178.0 0.8 3.6
SECT 187.7 9.7 08 080 7.8 2.1 2.85 27.6
SECT 200.8 13.1 08  0.80 105 20 205 26.9
SECT 211.7 109 08 080 8.7 22 210 229
SECT 223.7 120 08 080 9.6 22 220 264
Hi 45.7 36.6 103.8
_[1'avsY—rTJBavoE Z A% (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T &
SECT 178.3 0.0 0.1
SECT 187.7 94 02 0.0 0.9 04 025 2.4
SECT 1933 56 02 020 1.1 0.1 0.25 1.4
SECT 193.6 0.2 0.1 0.10 0.0
SECT 2008 7.2 00 0.0 0.7 0.1 0.10 0.7
SECT 2086 7.8 1.7 085 6.6 1.1 0.60 4.7
SECT 208.9 1.7 1.1 1.10 0.0
SECT 211.7 2.8 1.7 1.70 4.8 1.1 1.10 3.1
SECT 2234 11.7 0.8 1.25 14.6 06 085 9.9
Hi 445 28.7 22.2
3-6.FEFT
15EBET
L= (BHFBREELY) = 445 m
V= (BEMEHESZKY) 136-100%x445 = 6.05 m3
18av9)—rJavoiE
hEM (BIER)
V= 287 x0.265 = 7.6 m3

XKPEOMBEIIm2Y-YDELEFREEL-,
W% H URG LE#F (& B A #8E#t=10mm. 9.8kN/m)




A=

65/hNO1ET

arol)—k
—hR B
[y =

75/hO1T

arol)—k
—hR B
[y =

15T

arol)—k
—hR B
[y =

25MHYIT

arol)—k
—hR B
[y =

KR Ovy
A=
{E %=

(BEHEHEELY)

(FavYEmEELREL)

(BB EHEELY)
(BB EHEELY)
(B EFEELY)

(BB EHEELY)
(BB EHEELY)
(BB EHEELY)

(BB EHEELY)
(B EFEELY)
(BB EHEELY)

(BB EHEELY)
(BB EHEELY)
(BB EHEELY)

103.8+10.0x62.5

28.7

1.0
0.71
4.89
0.66

1.0
0.85
5.83
0.79

1.0
0.94
6.42
0.87

1.0
1.02
6.95
0.95

103.8
648.8

m2
&



1KEBEHBETE

<IER7: RIZEF>

[ A~F]
I A il Hig B HE I
AT
fEHI T
EHE HE L m3 215.9
EEERT
avyy—kJays I (avy)—kIavoig)
15av9y—kJavs % 50cm(HZE) m2 17.7
280y —kJavy $#EZ75cm(HZE) m3 1.2
35avy)—kJavy $2250cm(hZE) m2 355
E$NY ) RC-40 m3 442
AR A 4 B|ER5~15cm m3 14.6
g i LR L 44 B #At=10mm m2 54.4
NAlET AT 7.0
MY T &R 2.0




AKBANEBETES

4-1 AR
- YR (2B 1)
|l A c e
(m)
WEE | Y|
—SECT 24.6 05
—-SECT 21.6 3.0 1.0 0.75 2.3

—-SECT 19.0 2.6 0.8 0.90 2.3

it 5.6 46
A5 %ﬁ HE
[ 0.0

Al R E
(m)

& 0.0




AKBANEBETES

4-2 BEFT
N fEHI (B 1) PRYE (EE 1) BRL
e ER c : Fu e
WEE T IfE | BrEE N FH It | HrEE N FH IIE
SECT 0.0 0.6 0.0
SECT 3.0 3.0 00 030 0.9 08 040 1.2
SECT 5.5 2.5 03  0.15 0.4 02 050 1.3
Hi 55 1.3 2.5
. EkavY)—k gLaro—k
B R E(Enﬁ;‘ W1 w2 =
B 1y miE & 1y miE
SECT 0.0 2.2 1.9
SECT 3.0 3.0 2.2 2.20 6.6 2.0 1.95 5.9
SECT 5.5 2.5 1.7 1.95 4.9 1.4 1.70 43
Hi 55 115 10.2 0.0
wa B e
m)
& 0.0 0.0 0.0
BRI
KR o) —k A= = 115 m2
V= 11.5%0.20 = 2.3 m3
HLavo)—k A= = 10.2 m2
V=10.2X0.10 = 1.0 m3




AKBARMRYBEFESE
4-3.CHEPRr
N fEHI (B L) PRIE (B L) HugEaro)—+k
ne  ER c : e
PrEE | T8 ifE | BEE 8 ifE | BEE Y iR
SECT 56.0 0.3 1.0 0.2
SECT 590 3.0 0.1 0.20 0.6 06  0.80 2.4 1.7 095 2.9
SECT 610 20 03 020 0.4 2.0 1.30 2.6 15 1.60 3.2
Hi 5.0 1.0 5.0 6.1
. HERE tgLarsy—k
Bl E(Ef;‘ K W2 =
& Eiy miE & Ty miE
SECT 56.0 038 1.0
SECT 590 3.0 1.0 090 2.7 15 1.25 38
SECT 610 20 1.0 1.00 2.0 1.3 1.40 2.8
Hi 5.0 47 6.6
| 1'avsy—rTJnviE =A% (RC-40) KR Y1) —bk
s E(Ef/;‘ SL Gv W1 =
& Eiy mE | BrEE | Y iItE & iy miE
SECT 56.0 038 0.6 1.3
SECT 590 3.0 05 065 2.0 04 050 15 1.8 1.55 47
SECT 610 20 15 1.65 33
Hi 5.0 2.0 15 8.0
| 2'avyy—rTJnyiiE =3A % (RC-40)
s E(Ef;‘ SL Gv =
& Eiy mE | BrEE Y ifE
SECT 56.0
SECT 590 3.0 05 0.4
SECT 60.7 1.7 09 070 1.2 09 065 1.1
Hi 47 1.2 1.1
3-3.CHEFr
1EERT
L= (ERR&LY) = 30 m
V= (BEIHEFEELY) 1.36+100x30 = 041 m3
2EEBT
L= (ERR&LY) = 1.7 m
V= (B EEKLY) 232+-100x1.7 = 0.39 m3
15/hAILT N= 1.0 &P
avyy—k V= (BEIEFEELY) = 097 m3
— R4 A= (BEIBETFEELY) = 6.65 m2
e FE R 4% A= (BEIEFTEELY) = 1.09 m3
ERT
[EsRa> ) —hk A= = 8.0 m2
V= 8.0%0.20 = 1.6 m3
HLary)—k A= = 6.6 m2
V= 6.6 x0.10 = 0.7 m3




AKBANEBETES

4-4 DEFR
N fEHI (B 1) PRE (L5 1) BRL
e ER c : Fu e
WEE T IfE | BrEE N FH It | HrEE N FH &
SECT 72.0 0.8 2.0 0.3
SECT 800 80 06 070 5.6 1.9 1.95 15.6 03 030 2.4
SECT 935 135 04 050 6.8 1.6 1.75 23.6 03 030 4.1
Hi 215 12.4 39.2 6.5
N EmEIE ERITOvY
e ER K HE
RS Fty | @A = ¥ty | @A
SECT 72.0 0.8 35
SECT 800 80 08 080 6.4 30 325 26.0
SECT 935 135 08 080 10.8 1.7 2.35 31.7
Hi 215 17.2 57.7
_[1'avsY—rTJBavoE Z A% (RC-40)
B R E(Ef;‘ SL Gv =
RS T miE | BEE T &
SECT 72.3 0.7 0.5
SECT 800 7.7 08 075 5.8 08 065 5.0
SECT 932 132 07 075 9.9 06 070 9.2
Hi 20.9 15.7 14.2
15EBET
L= (BHFBREELY) = 209 m
V= (BEMEHESLY) 136+100%x209 = 2.84 m3
25/hO1ET N= 1.0 #&FT
avo)—bk V= (BEHMEHESZLY) = 0.63 m3
— B A= (BEMEHESZLY) = 435 m2
L FETY 4% A= (BEMEFHESZLY) = 0.58 m3
35/pAOltT N= 1.0 &P
avo)—bk V= (BEHMEHESZLY) = 0.79 m3
— B A= (BEBEHEELY) = 5.43 m2
L[ itk A A= (BEMEFHESZLY) = 0.74 m3
ERT EsRJOvy
A= = 57.7 m2
Ef=- (BEHEFEELY) 57.7+-100%625 = 3606 {&




AKBANEBETES

4-5 EE T
N A (E L) PRE (L5 1) BRL
e ER c : Fu e
WEE T IfE | BrEE N FH It | HrEE N FH &
SECT 113.0 34 1.7 0.3
SECT 1170 40 44 390 15.6 1.8 1.75 7.0 03 030 1.2
SECT 1205 35 41 4.25 14.9 1.8 1.80 6.3 03 030 1.1
Hi 75 30.5 13.3 2.3
N EmEF
e ER K HE
RS T miE
SECT 113.0 0.8
SECT 1170 40 08 080 3.2
SECT 1205 35 08  0.80 2.8
Hi 75 6.0
_|8®'avy—rTJnvoE Z A% (RC-40) ERIOvY
B R E(Ef;‘ SL Gv =
RS T miE | BEE T ItE 5] T miE
SECT 113.3 0.7 0.6 2.7
SECT 1170 3.7 1.1 0.90 33 08 070 2.6 24 255 9.4
SECT 1202 3.2 1.1 1.10 35 08 080 2.6 22 230 74
Hi 6.9 6.8 5.2 16.8
3-5.EEFR
15EBET
L= (BHFBEELY) = 6.9 m
V= (BEHMEFHEELY) 232+-100%6.9 = 1.60 m3
45/hO1LET N= 1.0 #FT
avo)—bk V= (BEHMEHESZLY) = 097 m3
— B A= (BEMEFHESZLY) = 6.60 m2
L FETY 4% A= (BEMEHESZLY) = 090 m3
58/A1ET N= 1.0 &Fr
avo)—k V= (BEHMEHESZLY) = 1.04 m3
— B A= (BEMEFHESZLY) = 7.08 m2
L FE Y 4% A= (BEBEHEELY) = 097 m3
EXRI ERIAVY
A= = 16.8 m2
Ef=- (BEHEFEELY) 168+-100%625 = 1050 {&




AKBANEBETES

4-6.F&E P
) T ES EHACTES ERL
e ER c : Fu e
WER TN uE | WEE TN uH | WEE T IR
SECT 178.0 1.6 0.8 0.3
SECT 187.7 9.7 1.9 1.75 17.0 0.8 0.80 7.8 0.3 0.30 29
SECT 200.8 13.1 52 3.55 46.5 1.5 1.15 15.1 0.3 0.30 3.9

SECT 211.7] 10.9 45 4.85 52.9 1.7 1.60 17.4 0.3 0.30 3.3

SECT 223.7) 120 40 4.25 51.0 1.7 1.70 204 0.3 0.30 3.6

Hi 457 167.4 60.7 13.7
N EmEF KR OvY
e ER K HE
RS T @ =) iy | @A
SECT 178.0 0.8 3.6
SECT 187.7 9.7 08 080 7.8 2.1 2.85 27.6
SECT 200.8 13.1 08  0.80 105 2.0 2.05 26.9
SECT 211.7 109 08 080 8.7 2.2 2.10 22.9
SECT 223.7 120 08 080 9.6 2.2 2.20 26.4
Hi 45.7 36.6 103.8
_|8®'avyy—rTJBvoiE Z A% (RC-40)
B R E(Enﬁ;‘ SL Gv =
RS T miE | BEE T IItE
SECT 178.3 0.0 0.1
SECT 187.7 94 02 0.0 0.9 04 025 2.4
SECT 1933 56 02 020 1.1 0.1 0.25 1.4
SECT 193.6 0.2 0.1 0.10 0.0
SECT 2008 7.2 00 0.0 0.7 0.1 0.10 0.7
SECT 2086 7.8 1.7 0.85 6.6 1.1 0.60 4.7
SECT 208.9 1.7 1.1 1.10 0.0
SECT 211.7 2.8 1.7 1.70 4.8 1.1 1.10 3.1
SECT 2234 11.7 0.8 1.25 14.6 06 085 9.9
Hi 445 28.7 22.2




3-6.FEFRr

15E BT
L= (BEARXY) = 445 m
V= (BEuHEFFHTEELY) 136-100x445 = 6.05 m3
68/ OLtT N= 1.0 &
avoy)—k V= (BEHEHEELY) = 0.71 m3
— R A= (BEBEEHEEXY) = 489 m2
[y = A= (BEBEEHEEXY) = 0.66 m3
78/0OLtT N= 10 &
avoy)—k V= (BEH=EHEELY) = 0.85 m3
— R A= (BEBEHEEXY) = 5.83 m2
[y = A= (BEBEEHEEXY) = 0.79 m3
15/EYT N= 1.0 &Ff
avoy)—k V= (BEHEHEELY) = 0.94 m3
— g B A= (BEuHEFHEELY) = 6.42 m2
[y = A= (BEBEEHEELRY) = 0.87 m3
25U N= 1.0 &Ff
avo)—k V= (BEHEHEELY) = 1.02 m3
— AR B A= (BEHEFHEELY) = 6.95 m2
[y = A= (BEBEHEEXY) = 0.95 m3
BRI EROAYY
A= = 1038 m2

E%= (BAHEEHEELXY) 103.8+-10.0%x62.¢

648.8 {&



